== f I Addizione fino a 100 ( orizzontale )
[6lF DOo

Nome: Data: Punteggio: _____

48 +12 = 100+73 = 71 +34 = 13+63 =

36 +12= 14+92 = 92+100= 44 +17 =

39+26 = 86 +34 = 38+45 = 31 +42=

99+ 13 = 67+28 = 12+63 = 41+52=

31 +84 = 91 +49 = 58+73 = 84 +49 =

42 +49 = 72 +27 = 39+75 = 31+70=

8 +60= 52+88 = 59+53= 75+64 =

53+47 = 24 +34 = 11 +74 = 46 +98 =

80+2 = 95 +46 = 11+31= 76 +89 =

66+10 = 46 +24 = 78 +74 = 2+13=

42 +58 = 2+30= 97 +44 = 21 +41=

25+47 = 89 +47 = 45 +55= 27 +53 =

63+12= 70+92 =
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., [ f T Addizione fino a 100 ( orizzontale )
e [0l 0Ot
Nome: Data: Punteggio:
48 +12 =160 100+73 =173 71+34 =105 13+63 =76
36 +12 =48 14+92 =106 92+100=192 44 +17 =061
39+26 =065 86+34=120 38 +45 =283 31+42=173
99+13=112 67+28=95 12+63 =75 41+52=093
31+84 =115 91 +49 =140 58+73 =131 84+49 =133
42+49 =91 72+27=99 30+75=114 31+70=101
8 +60 =068 52+88 =140 50+53=112 75+64 =139
53+47=100 24434 =58 11+74=285 46 +98 = 144
80+2 =282 95+46 =141 11+31=42 76 +89 =165
66+10=76 46 +24 =170 78 +74 =152 2+13=15
42 +58 =100 2+30=32 97 +44 =141 21+41=062
25+47=172 89+47 =136 45+55=100 27+53=280
63+12=75 70+92 =162
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